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The position of a particle as a function of time 15 given by the equation

x=3t"=St+20
where x 14 in centimeters and 1 in seconds,

{a) What s displacement of the particle during the time interval t = 2 and t = 4 sec?
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(b} What is the average acceleration of the particle durning the time interval t = 2 and t = 4 sec?
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{¢) What is the velocity of the particle at t = 2 sec?
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{d} At what position is the particle velocity zero?
| I--\.- g L - |
y g A [ = —_ s ] [ -
§ g - i h - &
g — o [ ]

This is page: 1



